EARAROBREBRT —5 XN—ZXBISH—F

202355858 (&) 3EREE4H

B E> B AEHIEER 9 YSR3I® EEEE IR
[xE<%] 1 & :500,000H  23&:175,000 @  33#&:100,000 9 . 43#%&:75000 M . 53&:50,000H
B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
o — o HEFSEE - - HF LE— (TR
1 g|7AT7—T03v R 3 54.3 %8_; 3| ° ?_95 hEie
RiFPAT7—=IYVT B:FAT7—AUvH Fk BEX
<, ¢ 8 3 | BMEB 58.2 2-1 38.1| — 2 36 |BHEX (BEE)
2|81 F-IYNAR 54.0 (72 o | ®TRE
Rib—tYS5— B:RARXFILXUT TREBHUS
T 7 =R # 3 | SHEK 58.3 3-4 37.7| - 1 433 | BiF (BEE)
3(8(12( 7477 —IMR 5.0 (3/4) 4o | B
R:PATr—VVT7 B4 sXO0-X AR P—-RT7—LA
8 =T 58.8 11-8 37.4| - 4 81 | BIIB—A (BEE)
4 7 R>FITRILIT 3 052.% 21/2) (-9) %Ké%
R:S=Z B:RFI4YFTo Bz
PV RST [EI BB . - . - AlEt (BEE)
55l 6| vy RSTY 33 58 (578‘:{3‘) 1-1 38.8 3 (4329) el
RIAX—rTZ7)VaY B:aAVN—Z= EBE . KERF—=T
© % =D N IEFE— - = l=— (BEE)
6 4| yvTIU—R 4 3 ?ﬁo 5(91.)0 7-7 38.0 6 (4_039) ;L$§g
R:IVHh—0 B:U—RIIL—hk e
N 3 | FPsekE 59.2 10-6 38.0| — 10 45 | T2 TBE (BHE)
71111 INWFUaRIL e 54.0 ) o | (B JPNEH
R:UVYURI7I=1 B:=ZF4—7 NLE A
== 4 3 | DOEEFME 1:00.0 12-10 38.2| — 7 482 |IMREEX (BEE)
8|5|5/AT>—k 5.0 @ (7 | EEEw
TJUA—Y BRI—U—FLUY LT
S v 3 | BBEE 1:00.2 9-12  [38.8| — | 12 | 410 |ABET EEHB)
9|7[10| ¥ h—N\TTIF 2 M Gy | B T
R:O—IRAUKXA B:AX—KRITSA K A HE
AN RIEERE :00. — . - Bt (BEE)
1017l o | 7HYE2DO— 4 3 s 1(/(\)(;_)2 8-11 38.9 9 (3+939) ﬁlﬂ%%
RiIJx /=X B:FPATF—ISVY plIESE e
J5— % 3 | AMBHE 1:00.2 6-5 9.5 - 8 469 | REBEXR (BTHE)
" 2 747 =7 54.0 (79<) -7) =
R:FPAT7—=VVT &:T/U7 Fxr BEX
- <, g BHIA : - - FEHH (BEE)
1 3 :FJ‘JVU’f/ﬂ'\_ 4 3 i 1.?2(;.6 4-9 39.8 1 (4:11) %ﬁ%ﬁ—ﬂﬂ
RiVAVR—54Y 8BSy RFARIVR HE &L
@ 11— —BBIENI
13—7+—
20—7F—
30—7— 6,11,12,3,8,2,4,9,10,1,7,5
43— — 6,11).,8,12,2,1,4,7,3,5,9,10
o ILRE
B B 8 1,670 JA R 8-11 650/ % 5E 6-8 350/ 3EE 8-11-12 2,160
7B B 8 240 8-12 5504 5 & 8-11 2,140 3EH 8-11-12 19,680/
1 110 11-12 290M4 Ba 8-11 6,000/
12 140
ABCDOVTIRHTERERRODDZ, THERAILZETL




